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1.

" (A) Farrokh Jaffer

mﬁﬁsaﬁrﬁsﬁwmaﬁm?
(A) HRE TH |
B) awEhe= 00
() foemm oy e
(D) anfern wieRaren

- wReE e % g geu Raws! & R

(B) -8 AT A1 whi

Who won the Best Actor in a Suppbrﬁng | 4.

Role (Female) Award in the Filmfare
Awards 2021 7

(B) . Taapsee Pannu
(C) Tillotama Shome
(D) Aalia Fumiturewalla

ﬁraﬁmmzomﬁﬁmﬁm

Which scheme has been launched by the
Reserve Bank of India for retail investors,
through which they can directly buy and
sell government securities (G-Secs), both
primary and secondary ? '

(A) - RBI Retail Direct Scheme

(B) G-Secs on sale scheme

(C) RBIInvest

(D) None of these

w @ A H E e g S
et T fadfs At wer 6 g
iRt (G- Secs) #t i @i 3fk I
qHAG 7

(A) IR, e s T =y

(©) eI =

D) TFEARE T o

India’s first Geothermal Power Project

will be established in

- (A) Himachal Pradesh

(B) Ladakh
(C) Jammu & Kashmir
(D) None of these

A) REERY (B) wE@

© Wﬁ'm (D) ¥ @ % 7

%
i
|
o werrfg < St | g
|
}
2

In Modi Government which of the
following is present  Union
Information and Broadcast Minister 7
(A) Anurag Singh Thakur

(B) Narendra Singh Tomar

(C) Nirmala Sitharaman

(D) None of these

ﬁamﬁﬁmﬁﬁﬁaaﬁwﬁ%
TATE TR A g 7

(A). e g 3R

(B) = fogdm

(C) e darwo

(D) T 4w

Who became the first IAS ofﬁcer to win
Paralympic medal ?

(A) Sumit Antil

(B) Suhas Yathiraj

(C) Devendra Jhajharia

. (D) Krishna Nagar

g TEYYW TG, m?ﬁq%
e Juferferes e sfiem 7

(A TmaRe (B) gEmARRS

©) T TTEIET (D) F AR

Which city - of India is renamed | as .

“Narmadapuram” ?
(A) Bharuch
(C) Jabalpur

(B)  Hoshangabad
(D) Narsinghpur

s & R T A g

frarman 7
(A) W& (B) ERWTETg
(©) vEeg (D) TEER

India’s first All‘ Taxi Services were
launched from
(A) Hyderabad
(C) Kolkata

(B) Chandigarh
(D) None of these

- wd Y yom gard o T Wt A g
HITg ot 7 ' |
(A) TEEE  (B) wO®
(C) we@ (D) wHIBETH
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10.

11.

12.

India’s first indigenously developed
DNA plasmid vaccine is

(A) ZyCov-D (B) Covaxin

(C) Covishield (D) None ofthese
yRa w1 yuw ot e fwm

oS ST} ,
(B) AT

(A) SREHE-E |
© wies (D) FHADSAE

Who among the following has been
written a new book titled, “Bullets Over
Bombay : Satya and the Hindi Film
Gangster” 7

(A) Vishal Bhardwaj
(B) Gopal Verma
(C) Anurag Kashyap
(D) Uday Bhatia :
“golew MR 9 Fen we g 5
Toren e’ sides areft w8 geae e |
¥ frem foret 2 7

(A) TamerwrgR (B) T gut

(C) IFMHEE (D) 3¢ Wi

Which is first state to set up India’s First
Dugong Conservation Reserve ?

(A) Kerala (B) Odisha

(C) Tamil Nadu- (D) None ofthese
W 1 T Tl e st o wenfia

CHFE IR IH TSGR ?

(A) @ (B) 3nfEsm

(C) di¥emrg (D) T wEAE
Bauxite is the ore of |

(A) Tron (B) Aluminium
(C) Silver (D) Mercury
SIS 195 8

(A) ERH (B) ey
(C) =T (D) =l (Ur)
‘Which is known as laughing gas ?

6 wnfen fw (g W) % w7 F S
WG 7
(A) SO,
(C) CO:

(B) NZO
(D) CH,
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13.

14.

15.

16.

Where are lungs situated in human
body ? ‘

(A) Abdominal Cavity

(B) Buccal Cavity

(C) Pericardial Cavity

(D) Thoracic Cavity
msrﬁtﬁmmmf@ma%% ?

A) THET  (B) TEITE
© TEETE (D) R

Which of the following is a perfect match 2
(A) Coronary attack — Vascular dilation
(B) Atherosclerosis — Blockage of arteries
(C) Hypertension - Low blood pressure
(D) Hypotension - Heart attack

orer 3 3 e o e @ 7

(A) HOTE  — HaE! fawmro
B) PR - gufal § ety
(C) TR - P

(D) TEURNA - EEEEW

The part of yam that can be eaten, grows :

(A) On the surface of ground
(B) Underground

 (C) On the surface of water

(D) None of these

el (3w) o e Fo@ @ s wera R,
EUGIES

(A) A gag W

(B) st ar=t

(C) i Tag & FW

@) T I HE

The bread, cereals and pasta group is a
good source of

(A) VitaminC  (B) Calcium

. (€) + Carbohydrate (D) Fats

e, T 3R IR T Tk 30T O B
(A) fftmc  B) *Ewmm
(C) weiEgEge (D) FE



17. Which disease is caused by protein .

'18.

19.

deficiency ?
(A) Kwashiorkor (B) Anemia
(C) Rickets . (D) Haemorrhage

TR FHFHU AT @ AITIAL ¢
(A) HREHR  (B) i
(©) Tebm (D) T
Match the following :
© T o gefera W -
List- I/ -1 List- /g - 11
a. Iltutmish / I. Daulatabad /

Fogar

b. Alauddin Khilji / 2. Purana Qila/
Feed feest g e

c. Mohammad-bin- 3. Qutub Minar /
Tughlaq/HE™G~  FHgadR
[EERUED

d. Sher Shah Suri/ 4. Siri/dhtft

I gl

Select the correct answer using the
codes given below :

Codes/%¢ :

a b [ d
A 3 4 1 2
B) 2 3 1 4
© 4 2 1 3
D) 1 2 3 4

Which of the following is the correct
chronological order of the visit of
travellers to India ?

YRa @ IR HH A T g W@
HERFAER T e e 7
a. - Thomas Roe /Tma q '

b, Fa~hein/m

c.  Hiuen Tsang / &T@m

(A) ab,c B) c¢,a,b

©) b,ac (D) b,c,a

20. Consider the following statements :

21.

PR e ———

‘The immediate cause of the Sepoy Mutiny

of 1857 was :

1. Transferring control of East India
Company.

2. Britishers’ exploitation of Indians.

3.. [Inequality between Indian and
British soldiers.

4.  The greased cartridges. supplied to
the soldiers for the New Enfield
Rifles

(A) 1and?2 are correct.

(B) 2,3 and 4 are correct.

(C) Only 4 is correct.

(D) None of these

o et Rt

1857 % fomieal & fge =1 arm%as

BRI YT —~
T e S F fEm oW

‘ B
2. IS gRT AREE 1 wor
3. 9 wE s e & uw

4. TETTRTE TAG! % g AT @)
SRR FTCT h ST
(A) 13298 %]

(B) 2,33M4adig|
(C) Faa4TE | T

(D) FHIAHETE

The Mus.lim Leégue was initiall“y‘ floated
in in 1906.

(A) Burma (B) Dhaka
(C) Colombo . (D) Kathmandu
e ot geaTa § 1906 3 7,
Tfea foam v o | | |
(A) =i (B) @I

(C) i) (D) EATY

. 104D

22,

23.

By drawing inspiration from Brahmo
Samaj, the Veda Samaj was established
at____in___.

(A) Bangalore, 1964

- (B) Madras, 1864

(C) Kochi, 1974

" (D) Vishakhapatnam, 1874 |
AR, g gAN H

T WS @ W

o # o o g ot |
(A) TR, 1964

(B) WZH, 1864

(C) ==, 1974

(D) faememusm, 1874

Consider the following statements and

- pick out the correct option from the

given codes : _
‘Rajtarangini’ is a book written by Kalhan.
1.  Ananthology of lyrics.
2. A History of Kashmir.
3. Its about Chandragupta reign.
4.  Its about Loyalty of King towards
State. ,

Codes :
(A) Only 1 and 2 are correct.
(B) Only 2 is correct.
(C) Only 1,2, 3 are correct.
(D) Only 4 is correct. v
= geet @ ferm ol %q i §z’i q
8 wdl R o -

TroreTof” sheRn gr Wi O T R |
il <1 ok WIE

YT T 3R

SEEE s
T % gy oo ) Frsar R A

Eh!

ygj.#-}“!\):“

FaT 1 @ 2T E |
(B) e 2wER
(C) #ae11,2,38081
(D) FA4TER

z
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24,

25.

INA prisoners of war were trialed at
(A) Tis Hazari Court, Delhi

(B) * Red Fort, Delhi

(C) Parliament, Delhi

(D) Governor General House, Delhi

T, T, 3 FuieEl o e el —
(a) o\ T g, et d
(B) wret e, feeeht A

(C) wwe, fewsh

(D) TR S g, feeeft

Select the incorrect pair _from the
following :

et B & T g T SR SR
-Committee of Chairman /
Constituent . by 71 )
Assembly / afqgm
mwhraffy
(A) Drafting ' ~ Dr. Rajendra
Committee /. Prasad /
Ty |itify B, T IETg
(B) Fundamental - J.B. '
Rights Sub- Kripalani /
Committee / &, e
mfers SAftrepr
gq- . -
(C) Union ~ Jawaharlal
Constitution Nehru /

Commxttee/HEf \'ﬂaIEI‘c"i RERS

(D) Provincial - Vallabhbhai
Constitution Patel /
Committee / TEAUVTE Yo
;Il,::iﬁ .E‘lﬁg: AN
affy



26. President’s Electoral College consists of

27,

28,

- B HewmusEiE

(D) Members of State Legxslatures

(C) A TIHaNT F e

(A) 42" Amendrment
(C) 77" Amendment

- e w3 e e Sig e

(D) wiemwmE . ’

(A) Elected members of both the houses

of Parliament and-Elected members

of the Legxslatxve Assembhes of the
states

(B) Members of Parhament and Vice
President

© ' Members of Loksabha only

only
M%ﬁaﬁ:«wﬁwﬁa%

(A) wue % 3N T % 9 ge vew v

TS Fremawiat 9 gu v
(B) UG % HTH 3TN Iu-Twafy

(D) a1 T foum avgel & gew

In Indian Constitution, FundamentaI
Duties are inserted by

(B) 44™ Amendment

(D) 40® Amendment

(A) 428 GxieE g
(B) 443 @oigd g
(C) 77d@mEAET |
(D) 40d@mwagm |

Who among the following was the first
Speaker of Lok Sabha ? .

(A) Sardar Hukum Singh

(B) Neelam Sanjiva Reddy

(C) G.V.Mavalankar

(D) Baliram Bhagat

forer 3 @ wom ©is | vy ﬁa e‘r ?

(A) uER T Rig

(€) Sft.& aEew

‘w<
&

L 8 SIS AT TUIIETID YOATAUNGS TOHRIOEI RIS, RGN YARTIARS, WA TR I,

29 Given below are two statements labeﬁed as

Assertion (A) ‘and Reason R). In the
context of the two statements, which of the
following is correct ?

Assertion (A) : The Indxan Constztutzon
closely follows the British Parhamentary
model.

Reason (R) : In India, the Upper House |

of the Parliament has judicial powers.
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is
v not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(A) is false, but (R) is true.

| ﬁ%ﬁqw%aﬂaﬁmmsﬂx

o R) % w0 3 fufea e §1 94
T F U, fmdd s mamd 7
e (A) : W Sfum e s @

fofewn dad Aieet &1 ST w@T R

T R) Wﬁm%ﬁ*:ﬁm%w

=P R E

(A) (A) @ (R) THI 9% & 3R (R), (A)
+ ud e | |

®) (A) W (R) 3w §, T (R,

W

© (A) T, W (R) G R |

- O (A) TR, WT@(R)W%!

Which of the foHowiﬁg Article of Indian
-Constitution deals with Pubhc Servzce

Commission ?

- (A) Article — 325 (B) Article —226

(C) Article~105 (D) Article - 315

TR w@fwm W P § d ww ow

FTRE T aT T & Tl R 7
(A) FTWT-325 (B) FIeHE—226
(C) ¥g=d% - 105 (D) Fede - 315
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31.

32.

‘Which of the followmg replaced the

~ Planning Commission ?

(A) NITI Aayog
(B) National Health Authority

- (C) Swachch Bharat Abhiyan

(D) None ofthese
ﬁmﬁ@mﬁzﬁwaﬂa‘msﬁmﬁwﬁa

foram 7
A) s

- (B) THE ey Wi
(C) TS WTE AREH

(D) T @

The total length of India’s coastline is
(A) 65003 kms. (B) 7516.6 kms.
(C) 5100.5kms. (D) None of these

TR G ae-{@1 ht o TS § -
(A) 65003 Fed. (B) 7516.6 %A

- (© 51005fH, (D) THAHETEH

33.

Which Indian State is known as ‘Land

of Five Rivers’ ?

(A) Haryana

(B) UP.

(C) Punjab :

(D) Jammu & Kashmir

mnﬂeﬂamﬁ‘maﬁa‘raﬁ@ %

 Eq R AR ?
- (A) sf@mn
- (C) wWE

34.

® 3

(D) =] Td HIT
Match the following :
AR B gRE R
Ml;g:ég’:a/ ; Mineral JEciEE

a. Khetri/ @agl’ 1. Iron Ore / S8 3%
b. Bailadila/ 2. Bauxite / SIS

emeien \
“¢. Balaghat/ 3. Copper / @81
~ d. Kalahandi/ 4. Manganese / BT
a b ¢ d
@A 1 4 2 3
® 3 2 1 4
C© 3 1 4 2
D) 4 1 2 3

36.

35.

37.

38.

Which of the following rivers makes an

estuary ?

~(A) Narmada  (B) Krishna
(C) Mahanadi (D) Godavari
ﬁmﬁéﬁa*&ﬁqﬁwwﬁ% ?
(A) ¥ B

(C) wEwel ®)

The gradual and fairly predxctable
changes in the species composﬁmn of a
given area is called
(A)  Ecological bxod:versﬁy
(B) Species richness
(C) Ecological succession

(D) None of these

T fw T 8 % ST Tee § 3 3
T GEHING SEETE HEA 8 —
(A) iR Safafgar

Tides occur in the oceans and seas due
to which among the following ?

1. Gravitational force of the Sun

2. Gravitational force of the Moon

3. Centrifugal force of the Earth

Select the correct answer using the code
given below. -

ﬁmﬁémmmwmﬁﬁ

#3 R el & UL aﬁ T g—‘x
(A) 1,2,3 (B) 2,3
(O) 1onzy/%»am D) 1,3
Pick out the wrong pair :
TR FH Y ¢
(A) Kanha National Park/ - M.P./
R T ST .
(B) Dachigam Sanctuary/ - J &K/
- GEIH TWARTE I8 &,
(C) Kaziranga National  — Assam/
Park/ SHIGTUEA IH 37 @H
(D) Mudumalai Sanctuary / — AP/
FWIRE t{cﬁ ,
A



39,

40.

41.

42.

43.

44.

48,

ﬁsaﬁmﬁmﬂmwmqgfgv
(A) ST, W, €9 -

(B) &M, T&1, HFH

(C) TSR, SIS, HIfhS -

(D) g, fosh, wegw

e 5T T e R BT TR o o e 7

(A) F=1 %M ferg ST | |
(B) SEEEE e
(C) wEETHET :
(D) m%mﬁwmw
-39 1% R e o ST & 7

(A) FHITEEEE (B) qeqeN @AW

© wghfewma (D) g en™

o fomer A femgme 7

(A) Ffer-frfg (B) wmder—fcd

(C) WA —-¥eM (D) WaH-vaig | 48.
b SR <6 fore ges g wnefen T & 7

(A) TN T G T — g

(B) Torelt areg w1 <hern v — =gt

(©) 2% why ks @ aren — e

(D) fTeema-frare fore™ amen - dmuer
ﬁmﬁ%mwmmﬂm'{iﬂ?ﬁ% ? |49,
(A) TUHR =W + ITHK

(B) TN = T + W g
(€) o = fog + s |
(D) TE=T+¥% | ;
s g A e d Y W g
TR |
(A) WehFeRswdl -] se
- (®) RS A wE |
© # ¥y ) |
D) T EEE g

8

46, Frer QP freer & i ot 3 god

Wm(ﬁ)mmgm%?
(A) TTEENR, gerde

(B) WTEREB agmﬁm ,
(©) T, T o
(D) g, IPTEH C

mﬁmﬁm-@wwméﬂag@-

TR

TR~ -3

(&) e = s

- (B) WH-IH = W-gd

(€) witr-at = gy~

D) Iw@-3w = g@-fwaa
frerferfea wedf w feme i

1. I 2. o

3. TaREE 4. wgRW

e e darg g€ ?

(A) 2,3,4 (B) 3,4

© 1,24 (@O 1,2,3

fra femre § afh afenfes W= =
ey ) iR e w7

(A) Custodian ~ fires
B) Promotion - verEdfd

(C) Contravention — g

(D) Authentication ~ TIEEOT
fora famrea & “Vocation’ WET BIEER |
oo v adi d 7

A fE (B) =EEE

(©) TEEER (D) wHfsHmo
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Read the passage and answer the
questions (51 - 55) :
Comprehension

The rivers of India play an important
role in the lives of the Indians. They provide
potable = water, cheap transportation,
electricity, and the livelihood for a large
number of people all over the country. This
easily explains why nearly all the major cities
of India are located by the banks of rivers.
The rivers also have an important role in
Hindu Religion and are considered holy by
all Hindus in the country.
Seven major rivers along with their
numerous tributaries make up the river
system of India. The largest basin system of
the rivers pours their waters into the Bay of
Bengal; however, some of the rivers whose
courses take them through the western part of
the country and towards the east of the state
of Himachal Pradesh empty into the Arabian
Sea. Parts of Ladakh; northern parts of the
Aravalli range and the arid parts of the Thar
Desert have inland dramage
All major rivers of India originate
from one of the following main watersheds :
Aravalli range
Himalaya and Karakoram ranges
Sahyadri or Western Ghats in western India
Vindhya and Satpura ranges
Himalayan glaciers in the Indian
subcontinent are broadly divided into the three
river basins, namely the Indus, Ganga and
Brahmaputra. The Indus basin has the largest
number of glaciers (3500), whereas the Ganga
and Brahmaputra basins contain about 1000
and 660 glaciers, respectively. Ganga is the
largest river system in India. However these
rivers are just three among many. Other
examples are Narmada, Tapi, and Godavari.

81, According to the passage, the major

rivers in India

(A) Pour only into Bay of Bengal

(B) Pour only into Arabian Sea

(C) Pour eithier into Bay of Bengal or

Arabian Sea or have inland drainage

(D) Pour either into Bay of Bengal or

Arabian Sea

PR
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52.

33.

54.

How many glaciers are there in each of

the river basins in India ?

(A) Brahmaputra, Ganga, Indus -
1000, 660, 3500 respectively

(B) Indus, Brahmaputra, Ganga -
1000, 660, 3500 respectively

(C) Ganga, Indus, Brahmaputra -
1000, 660, 3500 respectively

(D) Ganga, Brahmaputra, Indus -
1000, 660, 3500 respectively

Accordmg to the passage the rivers in
India play a pivotal role because:

(i) They provide potable water.

(ii) They are important only to the
‘Hindus.

(iii) They provide cheap transportation
& electricity.

~ (iv) They are located near all major

cities in India.

(v) They are means to earn livelihood
for a large number of people.

Choose the correct options :

(A) (@), (i), (iid), (iv), (v)

B) (i), (), (V) mas

©) (), (i), (@), Gv) B

(D) None of these :

All the major Indian rivers originate

from the following watersheds :

(A) Himalaya, Karakoram, Aravalli,
Western Ghats, Sahyadri, Vindhya

(B) Karakoram, Aravalli, Himalaya,
Hindu Kush, Vindhya, Satpura,
Sahyadri

(C) Himalaya, Karakoram, Aravalli,
Nanga Parbat, Vindhya, Satpura,
‘Western Ghats ‘ v

(D) Aravalli, Himalaya, Karakoram,
Sahyadri, Vindhya, Satpura



55.  Which of the followings include all rivers

" 56.

57.

58.

59‘ »

60.

(A) Ganga, Bay of Bengal,

are mentioned in the entire passage ?

Indus,
Narmada, Tapi, Godavari

(B) Tapi, Ganga, Bay of Bengal,
Indus, Arabian Sea, Godavari

(C) Brahmaputra, Indus, Ganga,
Narmada, Tapi, Godavari

(D) Narmada, Tapi, Godavari

Which part of the sentence has an error ?

I live on a top floor of an old house.
When the wind blows, all the windows
rattle. '

(A) Ilive on atop floor

(B) ofan old house.

(C) When the wind blows

(D)  all the windows rattle

Which part of the sentence has an error ?
With a total of 45 matches, the T20 World
Cup will composition of two rounds.

(A) With a total of 45 matches,

(B) the T20 World Cup

(C) will composition of two rounds.
(D) No error

Give synonym of
EMBEZZLE

(A) Remunerate
(B) Clear

(C) Balance

(D) Mlsappropnate

Give antonym of
Grumpy |
(A) goodnatured (B)
(C) ill-tempered (D)

‘obstinate
amiable
Give meaning of idiom
At one’s wit’s end

(A) Perplexed (B)
(C) Explain D)

Clear up
Enlighten

s

N LS SRS TS ST TSRS WY AT TS NS S

61.

62.

=
@

" (A) Accuracy

Once you load the suitable program and
provide required data, computer does
not need human
feature is known as :
(B) Reliability

(C) Versatility (D) Automatic

S U R A9 I9YF A IR S

321 Suered HU A §, @ et B e

FEA8Y 61 TETIHar T8 Bl | a8 Ao

HEATA 8

(A) wwpE
(©) Fdfed

Information stored in dynamic RAM
need to be

(A) checked

(B) modified

(C) refreshed periodically
(D) None of these

TTies RAM ¥ sigtita gemnsil 1
FATTER |

(A) Sitem

B) miEd

(©) Trafia form

(D) ¥ g

Which of the following is not a version
of Windows Operating System ?

(A). Windows XP

(B) Windows Vista

(C) Windows 9

(D) Windows 10 .

= 1 @ B w1 U e veem dF W
IS (TTR) TE R 7

(4) FEmxp

(B) Terer forer

©) f==9

D) =10

EsE
E HH

104D
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64.

- 65.

66.

67.

| T HE NI

Which one of the followmg input devwe
is user-programmable ?

(A) Dumb terminal

(B) - Smart terminal

(C) VDT o

D) I.ntelligent terminal

fm & 8w W wge e -
EIEIECIR S
(A) = hia
© =S4

(B) @i filF=
@) sferie 2w

‘A computer program that converts an

entire program into machine language at
one time is called a/an

(A) Interpreter - (B) Simulator-
(C) Compiler (D) Commander

oR F € aefet s § wiefda W S e,

HEATI & Th
(A) ¥R (B) RmEER
(D) WA

(C) TR
Plotter accuracy is measured in terms of
repeatability and
(A) Buffer size

(B) Resolution
(C) Vertical dimensions

(D) Intelhgence

TR ﬁmﬁtﬁﬂﬁ 3ﬁt
FeRH AT |

(A) TREES  (B) ReleqEH

(C) TwAlm Im™ (D) R

Windows 95, Windows 98 and
Windows NT are known as what ?

(A) Domain names

(B) Modems

(C) Processor

(D) Operating systems

gk 95, famere 98 3t el NT i
frasdamISTaT] 7

(A) BT (B) uiew

(C) AW D) am%%n%m

104D

W T QT B T

68.

i
§
|
|

|

i
3
11

69,

70.

71.

72.

Which of the following is not essential
component to perform a mail merge
operation ?

(A) Data Source (B) Merge fields
(C) Word fields (D) Main document
T Aol 7l wETer @ fasanfed % & T
ot 3 @ I w1 e RS e 8 7

(A) STEE (B) WS Hlegd

(C) wHhieg (D) T SR
An Excel Workbook is a collection of
(A) Charts

(B) Worksheets
(C) Charts and Worksheets

(D) None of these

T TR T wwm%n

(A) IRH

(B) whefe@

(C) =TeH & FehIfieH
@) T

Which of the following shortcut-key is
used to start a presentation from the
beginning in PowerPoint 7

- & fe § & # W e

I B T W YE FH S ¢ 3w
HI A E ? |

(A) F6 (B) Fl

(C) F5 (D) F3

Which one. of the following would not be
considered as a form of secondary storage ?
(A) Harddisk (B) RAM

© f_loppy disk (D) Optical disk
e # @ Tl Ypvedl ©RT & T wEY
3 AR I HAT S EHT R ?

() e B W

(C) wrtfesrs (D) aﬁm%ﬁs

Which among the following is the
largest unit of storage ?

(A) Kilobyte (B) Gigabyte
(C) Megabyte (D) Terabyte

faidsnd SR T s TR ?
(a) Freleme  (B) e
(C) wTETEe (D) WETE



73. .

Word processing, spreadsheet and
photo-editing are examples of
(A) Platform Software

- (B) Application Sofitware -

{C) System Software
(D) None of these
I8 mafE, Sewfie sk tﬁ'& e

IETR & —

- (A) e T

74.

75.

(©) fremareIms
(D) FHAPETE

(B) T ERIRF

: g[ﬂ
-m $154

QWERTY is used with reference to

(A) Monitor (B) Mouse

(C) Keyboard (D) Printer
QWERTY % deid wﬁn Ferar

SR |

(A) wifERT
(C) HEE

(B) u=y
(D) i

A collection of programs that supports a
computer’s basic functions such as

scheduling tasks and controlling
peripheralsis called .

(A) Compiler

(B) Interpreter

(C) Operating System

(D) Network

ST <61 Ceh Ther S T et :m
o 1 T T Srgafeim ok Aew
% i 3 werren i &/ wEena
(A) HHETER (B) . 520X

(©) mm@ e

76.

A7

78.

79.

(A) NOQ

In the following letter series, some of
the letters are missing which are given
in that order as one of the aitematwes
below it. Choose the correct alternative.

ﬁm%%aaxm%vﬁﬁ@@axm?ﬂ% |

T2 35 A9 Ru 1 Reped] § & freft v

%s@mﬁﬁmm%t@ﬁmm
= il | '

aﬁbcaﬁbcab__éa__bb
(A) abca (B) aaba
(C) bacb (D) baba :

From the pairé of words, you have to

~ select the pair which is related in the same

way as the words of the first pair.
Hammer : Nail : : _ :
(A) Carpenter : Building
(B) Scooter : Bike
(C) Pencil : Pen

(D) Saw : Wood

ARy S dd s smgm e

Wm%vﬁmgxn%mﬁm'@
WW@W%

(A) aa%=m
(C) %ﬁm:ﬁw

(B) T wiw
(D) 3l : ek

Choose the group af Ietters Whmh is

different from others.

R % IH HUE H1 AT B I Y
=g

B) TVW

(C) FGI (D) EFH

. Which letter will be 15" to the left of 5™

letter from the right end in English
alphabetical series ?

3rsft ol seen 3 g BR & 59 v

SRAf 3T 1597 LS TR 7

@ L @ e

C) F ® I |
| 104D

Direction : Read the given passage and
answer the questions (80 to 82) that follows

based on passage : ,
~ The caffeine in one morning’s coffee or
tea may improve the complex reasoning |

ability of extroverts but has the opposite effect
on introverts. More than 700 people were

given caffeine equal to no more than three -
cups of coffee and then tested on word

analogies,  sentence  completion, and

identification of antonyms. The researchers
believe that the caffeine was beneficial to the
extroverts in the moring because they take

longer to wake up. Introverts are more alert in
the morning and become overstimulated by
the drug which interferes with their reasoning
power.

fdw : Ry m qﬂ%a &l fr%q aﬁt I W
ImaTitd 9941 (80 - 82) % Ia v -

gag 6 5 A wh § Fhw, sfidfe
1 Fiee afehes gt § Tyea: gfe w uwa
g FfeR W Ry e 2 1 700 @
oft ST WANTT T A HT BIE F AT TR
FEH @ TS 3R IR foulad® e veErm,

I QT T YeE qeETal W@ T |

SigssdiaT w1 TEAT R % st o afwifedt
& fore S enwerrs 2 wifs 3 53 () §
Te] UHE 1 § | STaHE) g surer Sa B §
311 g % wore @ arfres i & ST St SR
aTfeben wfa o e gretar 2 |
80. Caffeine has greater effect early in the
morning. ~ '
(A) Definitely true
(B) Probably false EaE
(C) Probably true , B
(D) Data inadequate
SITer:<hTeT H 6T T Sferes TS T |
(A) PR wd  (B) dvew TeE
(C) "vaa:wel (D) eIt

104D
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81.

82.

83.

" (A) Aunt

84.

Extroverts do not find caffeine

beneficial in the evening.

. (A) Probably true
 (B) Definitely false

(C) Definitely true -
(D) Data inadequate

W@Wﬁ%ﬁﬁmqﬁ

I # |
(B) f¥aamm

(A) Gved: gf
() Tfvaad (D) =3I

| Caffeine affects feasoning ability of
_people who drink tea or coffee.

(A) Data inadequate

(B) Definitely false

(C) Definitely true

(D) Probably true

W A oI A wh M, She 3

afhs s TR e e
(A) e (B) e e
(D) ©vgd: udl

(© Fifeeawd

_ Ankit is related to Binny and Chinky.

Daizy 1s Chinky’s mother. Also, Daizy
is Binny’s sister and Aruna is Binny’s
sister. How is Chinky related to Aruna ?
(B) Sister

(C) Cousin (D) Niece

ifera, fa=h it il @ gefta 8 | S

Rieht ) uf 2 | are, ﬁ:ﬁﬁm%aﬁ{

ool oft ol S wmw 2 | R R |

o v Eefta g 7
(A)
©) e

If “BEAT’ is coded as ‘EHDW’, how
will you code ‘ROAD’ ? '
afe “BEAT® ! ‘EHDW’ %fea fom man

B, & 3 ‘RO%{)*@WWW7

(B) w&
(D)

(A) TQGF | (B) URDG
(C) URBG

(D) SQOF



- 88,

86.

87.

(B) BHEg@edio|

Parimal walks 40 metres towards east.

He then turns left and walks 20 metres.
He again turns left and walks 40 metres.
How far is he from his starting point ?
(A) 20metres  (B) 40 metres

(C) 60metres = (D) 30 metres

vfeTer 40 et & Y 3l Sern } | R a
arff 37 ggaRt 20 et <o § | 98 g
et 3R TR 40 et FE R | 98 ST
wor g afeafigimi 7

(A) 20:ﬁ'a (B) 40

(C) 60H=T. (D) 30wt
A,B,C, 0K, FandGaresﬁtmgarounda
circular table facing the centre. C is next to
the left of F and G is second to the left of
C. A is sitting third to the left of E. B is
between O and E. ' o

- What is the position of O ‘?
" (A) Osits between G and B.

(B) O is to the immediate left of B.
(C) O is to immediate right of G.

- (D) O sits between A and C.

A,B,C,O,E,F 3R G ¥z H ding@ =
wiE i S I A B E I FF O

e CRARCHTIATUGRIES

IR U RAITR IOWES
7B

S OWmWEBRAE?

(A) GWBHFAAO ST | "
€ GHgETIORI ;
(D) AWCHTHOIJR |

Mukesh is twenty-fifth from left and
Suresh is twenty-fourth from right in a
row of 40 students. If Dhiren is sitting in-
between them, what will be his position

from left ? '
40 oHET € s 9§, T ¥
R 9fg

yeiwat ofit giw e §

off 3 S o wen 9T €, a9 & e

I T ?
(A) 21
(C) 24

B) 23
(D) 26

88.

!

0w S,

14

89.

90.

- © aM
91

Which one of the given responses would
be a meamngful order of the followmg
words 7

ﬁqmmaﬁ@mmmmﬁﬁ x
W 91T B 7

1. Police/qfea

2. Punishment /T8

3. Crime /WY |

4,  Trial / geHT

5. Judgement/ ot S

(A) 3,1,2,5,4 (B) 1,2,4,5,3

(C) 5,3,4,2,1 (D) 3,1,4,5,2

Which letter will replace the question
mark (?) in the following circle ?

Pt g & w0 T R () H

e ST 7

(A) H ®) T

© v D) O

Supply the right letters for the Question
Mark (7) :

e g (2) % o vt SR e R
ZA,UF,QJ,2,LO
(A) NM (B) PM
D)y QM

From the pairs of words, you have to
“select the pair which is related in the same
way as the words of the first pair.

Editor : Magazine : : :

(A) Chair : Table (B) Dxrector Film.

(C) Poem: Story (D) Novel : Volume

3 T el 3 et H { TR 3 I A
T HETT B S WU T % I Y HwE §
TR EI R dERaE |
HuTes ; iyt :
(B) ﬁ&m:m
(C) e : el
(D) I : IY

104D

- 92

93,

94.

(A) Brother (B) Father

- (C) Uncle (D) None of these
o firt 3 T e 6 S T F g
R FE, “FA A S AR P
R 1 7efit 30 T A fpm yR wERa R 7
(A) W ®). frar

(©) . 3 (D) ¥ @ I

95.

SEHAE 7 |
(A) SPSET - (B) SPEST
(C) SEPTS (D) SPETS

96.

104D

Choose the odd one from the glven
alternatives.

fw e feremedi 3 @ e =1
(A) 4-8 (B) 8-16
©) 6-12 (D) 9-20

97 In a College, L and M were teaching

Which letter will be 14% to the left of o

10" letter from the right end in English |
alphabetical series ?

Rt orren Aol F 2R S Y109 e F
SRl ST 143 ST S EERT 7

A Z B) C

© X O A
‘Pointing to a boy in a photograph Abir
says, “He is the son of my mother’s only
son”. How is Abir related to that boy ?

If ‘CLOCK’ is written as ‘KCOLC’, how .
‘STEPS’ can be written in that code ?
af¢ “CLOCK’ Y ‘KCOLC’ fera wr 2,

i 3¢t g2 F ‘STEPS’ =) fver &R R

Sheela walks 1 km to east and turns right
and walks another I km and then turns
left and walks 2 km and again turning to
her left travels 5 km. How far is Sheela
from her starting point ?

wfter gd 3 o7 1 fp.h. wer @ ot e
3R get 1 B, wordt & ofk R s

5 fop.oft. =rorelt & | ¥item avo yreoTe faig &
R g w e ?

Ay 9km/MBH. B) 5km/Fr
(€©) 7 km/fp.H. (D). 2kmffésrﬂ

15

|
|
|
|
e 2 a0, T & 3 o i e g
|
|
E
{

98.

99.

Biology and Physics. N. and M were
teaching Physics and English. O and L
were teaching Sanskrit and Biology. P and
M were teaching Geography and Spanish.

- L and M were teaching which subjects ?

(A) Physics
(B) Biology and Physics
(C) Sanskrit

(D) Physics and Sanskrit |
T wies 8§ L 3t M Ha-Rmm w
Hifowere vg & | N 3t M sifvewme
T St WK & | O IR L depd w

- Wfe-fem v & 1 P 3R M wite ok

WA oeR 9 |
LWM@H%%@W&?

(A) shifteeema

(B) Gﬁa%mqmﬂﬁm .%5
() wwpa '
D) ﬁlfﬁaﬁ?ﬂﬁmm

If ‘water is called ‘food’, ‘food’ is
called ‘tree’, ‘tree’ is called ‘sky’, ‘sky’
is called ‘wall’, on which of the

following grows a fruit 7
(A) Water ~ (B) Food
(C) Tree (D) None of these .

afe o’ B T T S f, @
Ug’ el I, Vg B AN wE
ST &, ‘SR Y IR HET T B, @

o fre TR e ?

(A) U B) @
© W (D) THIAFET

Which one of the given responses would
be a rneanmgful order of the following
words 7 -

vﬁmwmmﬁ@mﬁqmmﬁ% -
‘“aﬁ:{m'qeaz‘rrn? s | |
1. Village/7f@ 2. Nation /}IT%‘
3. District/ @4, Taluk /it
5. State/TY '

(A) 1,4,2,3,5 @®B) 1,3,2,4,5
(©) 1,4,3,5,2 (D) 1,2,3,4.5



100. Select an appropriate number to replace
the question mark (?).

wva g (2) ) wieeenfia =@ % fg o
SR G T | '
15 18 21
90 | 105 | | 108 | 126 | |? |147
(A) 118 (B) 162
(C) 186 (D) 126
(T+7+1+7 _, |
5+545+5
A) 1 (B) 151

16 3
© o | (D) m

102. Find the average of the cubes of first
five natural numbers.

v utE gl Sl % a:ﬁ =1 3t
T iR |

(A) 35 (B) 45

(C) 65 D) 55

- 103. A lady has 25p and 50p coins in her bag.

She has a total of 120 coins amounting

to ¥ 50. What is the ratio of the number

of 25p and 50p coins ?
T uigen % S F 25p 37 50p H s

] umwuoﬁrﬁ’ém@?so
2 1 25p 2R 50p & ferpl &1 W& W

105. If A’s income is 25% more than B’.s
income, then by how much percent is
B’s income less than A’s income ?

It A Y 3 B I 7= A 25% A B,
ﬁB@mAﬁm@Wm

FUE ?

(A) 25% - (B) 1524

©) 20% (D) 30%

106. Deepak invested an amount of ¥ 21,250

- for 6 years. At what rate of simple
interest will he obtain the total amount
of ¥ 26,350 at the end of 6 years ‘?' :
& T 21,250 <A1 Tk TR 1 6 T8t = forg

53w fsar | 6 =t uvE, S8 few wumw
TS A e TN 26,350 T UM 7

- (A) 4%p.a./$lﬁf?=l§
(B) 7%p.a./Sfaad
(C) 9%p.a. /wfaed
(D) None of these / $98 AT T8

107. The compound interest on ¥ 2,000 for 3
years is ¥ 315.25. The rate of interest is :

T 2,000 W 3 &€ w1 GHglg AN

7315258 | I R ] -
A ™ B &%
) % - D %

108. If 10 spiders can catch 10 flies in 10
min, then how many fhe_s can 200
spiders catch in 20 min ?

Ife 10 weieat 10 fr. & 10 uffeal =

=
s
[

I TR 7
(A) 2:3 B) 1:4
- (C) 1:2 D) 1:3

104. If the volumes of two cones are in t}.le
‘ratio of 1 : 4 and their diameters are in
the ratio of 4 : 5, then the ratio of their

heights is :
fE & Wil T A 1: 4 % g A
TE T ST 4 1 5 % HUTE A B, o S

Tws Gwd! §, 200 weRfeaAr 20 Bt #

fepat wiRgal wehg @l © 7
(A) 700 (B) 400
(C) 600 (D) 800

109. A shopkeeper by selling 44 calcu}ators
earns a profit equal to the selling price of
11 calculators. His profit percentage is :

T HFER 44 HAFA TR

378 W1 I B -

(A) 5:4

B) 4:5

C 6:9

(D) None of these / Eﬁ@fﬁg:@

¥ T ® | 3T AW Tfavd |

33.33% (B) 25.33%
% 30.33% (D) 40.33%

RIS TRXERNAS WIS TARIRAS

Y, TG RTI4TN F e S
SR 3 | S T N G TR 7
(A) ®1,524  (B) % 1,680
- (O 1,580 (D) 1,623 |
111, 0.5%0.5+0.5+5=72 maE -
(A) 045 ~  (B) 0.35 E&%
(©) 0.15 (D) 0.25

Feperet & g qea & TR HT AN

110. The profit earned after selling an article
for 1,754 is the same as loss incurred
after selling the article for T 1,492. What
is the cost price of the article ?

Th 9 W1 ¥ 1,754 F ¥ % Wi ariia

112. The breadth of a rectangular field is 60%

of its length. If the perimeter of the field |

is 800 m, what is the area of the field ?
TH NATRHR &3 6 e sadh o
1 60% 7 | Al & 1 gRemy 800 m. B,
WA H ATFA TR 7
(A) 10750sq.m (B) 37500sq. m
(C) 58000m? (D) 38000 m?
113. One litre of water is added to 5 litres of

a 20% solution of alcohol in water. The
strength of alcohol is now :

trﬁﬁﬁqmga.%zo%aﬁa%q’fa?ﬁaﬁ
wF ot wEt fifde fer o ) are
TEEHIEE Y AT B ~

(A) 12.5% (B) 16%

(C) 16.66% (D) 24%

114. How much percent is 20 paise of € 5 7
2098, T 5w fram afoea & ¢

116. The average of 5 consecutive even
numbers A, B, C, D and E is 52. What is
the product of B and E ?

5 SHHTT §H FEISA A, B, C, D 3% E &
3ff&a 52 % | B 3R E 1 qomeet Reem & 7
(A) 2800  (B) 3080
(©) 2980 (D) 2910

117. In a shower, 5 c¢m of rain falls. The
volume of water that falls on 1.5
hectares of ground is :

TF VR T 5 cm’ﬂﬁ%ﬁﬁ% | 15%@(
RN Cik b P ia

(A) 850cum  (B). 750cu.m
(C) 950 cu. m (D) 1060 cu. m

Dlrectmns (Questions 118 to 120) Study the
following information carefully and answer .
the questions given below :

P o7 118 ¥ 120) ﬁm‘%ﬁaaﬁgmﬁﬁ
CTYE g e i f wet w7 3er 2

-Given an 1nput a machine generates pass
‘codes for the six batches each day as follows :

T e fen mn 2, sl o v & 441 %
%qwmwmmm?ﬁ%
Inputlﬁ%ﬂ

: these icons were taken -
out from the sea
Pass codes / TS HIE :

(A) 0.12% (B) 04%
() 0.8% (D) 4% |

115. 4 men and 6 women finish a job in 8

days, while 3 men and 7 women finish it
“in 10 days. 10 women working together i
will finish it in ;

4%@6ﬂ%ﬁﬁ8%€ﬁwmaﬁ@f |
w § TE% 3 7oW w8 7 wirend @ 10 §
ﬁ?ﬁ@mﬁllow%amWw |
T 38 SN | |
(A) 20days/1%a‘r'3:(B) 30days/1%a‘rﬁ§
(C) 60 days /A H(D) 40days/fé:hﬁr

104D - . 17

BatchI/3%1 : from_ sea the out taken

were icons these

Batch II /9911 : from icons these were
taken out the sea

Batch IT1 / ﬂ? IIl : from icons out sea the
‘taken were these

Batch v/ ai IV : from icons out sea these
were taken the

and so-on. '

First batch starts at ‘10 00 a.m. and each batch is
for one hour. There is a rest period of one hour
after the end of the fourth batch.

A



aﬂts&ﬁmmﬁ ;;

o ¥ 10.00 a.m. mg&sﬁm%aﬁzaaa@
a%m@m%!%&éa%m%m@a%m
R gag |

118.

- 3.00pm. m‘%a%mwmw@m

119.

120.

(A)

‘ffmaﬁgwm?

(B)

@D

What will be the pass code for the batch
at 3.00 p.m., if input is ‘four of the
following ﬁve form a group’ 7

gfe 89 ‘four of the foﬂewmg five

form a group "B Y

a five following form four group the of
a five following form group the of four
(C) a five following form four of the -
. group

(D) None of these / &1 & 15 &I

If the pass code for the batch at 1.00 p.m.
on a day was ‘back go here people who
settle want to’, what was the pass code
for the batch at 3.00 p.m. on that day ?

Ife v BT 1.00 p.m. T ¥ % fow
WIS o1 ‘back go here people who settle
want to’, d1 38 f&73.00 p.m. W S &

(B)

back go here people settle who want to
back go here peop}e settle to want
who

Cannot be determined / Bl A

e w1 waT |
(D) None of these / 1 A HIE A8

The pass code for the first batch on a
day was ‘he so used to sell the surplus
items’. What was the input on that day ?

%&ﬁﬁaméammmm ‘he so
used to sell the surplus items’, I 31 f&
wHfEw e YT ?

(A) he items surplus the sell to used so
(B) so.used to sell the surplus items he

(A)

©

(C) Cannot be determined / BiGRET
fEnSEwa)
None of these / 74 € %5 Ta1

|

121.

122.

123.

o
Qo .

What was Kharda in Rajasthan during

British period ?

(A) The money to be coﬁected fmm the
people of the village for food for
the army of the state when a halt is
opened near a village.

' (B) To be charged two rupees per house

for the construction and repair of

citadel.
(C) The cost to be collected from the

working castes.

(D) None of these

mm%aﬁmmﬁ@@mm 7

(A) TSI G e et ifa 3 o vRTE

T, sEes viwA & fore nfe %
dm A sEE R IR I e |
(B) g % fmivr 3. wowwd ¥g & w9 yfd
Y IR I Y |
©) amﬂaﬁmﬁa‘maqg'ﬁaﬁwﬁnﬁr
(D) T A T

‘Ghagghar Ka Maidan’ is situated at —

(A) In the districts of Jhunjhunu & Sikar

(B) In the districts of Jalor & Sirohi
(C) In the district of Ganganagar &

- Hanumangarh
(D) In the dlsmcts of Jaisalmer &
Barmer .
TR <1 A o 8 _
S « ﬁ % '
(A) g = e fore e

(B) iR & frel et o
(C) TR & T i A
(D) éwatamﬁ'eﬁ_ﬁ

In Bheel tribes of Rajasthan, vxﬂage

head is called
(A) Palvi (B) Pal
(C) Phala (D) Gamet: : ’
TRy i offer seefa & Tife w5 gf@m
HEAT 8 | -
(A) ureEt (B) WreT. :

(D) Tt

(C) we
' 104D

124. When was Karauli district formed in
- Rajasthan ? '
TR H el el &1 Te7 e gan ot ?

(A) 07.09.95 (B) 19.07.97 .
(C) 17.09.98 (D) None of these /
| « T ¥ B T

125. Who ivas the first ruler of Rathore dynasty ?

(A) RaoRanmal (B) Mokal

© ,Rao‘Jodha (D) Rao Chuda

TSI T o NUW 6% HH & 7

(A) TS TR (B) Hiwe

(C) TS (D) T =g ‘

: 1129,

126. Who was the first Chief Justice of

‘Rajasthan High Court’ ?

(A) KK.Verma (B) D.S. Dave

(C) SarjuPrasad (D) None of these

TRYA 39 AR F TR T

R HE Y 7 -

(A) %.%. 991 (B) SLwE. @ s

© wEr @) waRd |

127.. Match the following :
Granth (Books)/  Writer / 9@%
P ' ‘

a. Prithvi Rgj ~ 1. Vijaydan Detha
Raso/ -/ ESEEE e
weeffrs T Q ,

b. Vir Vinod / ~ 2.Chandbardai / §131

- drfe TR |

c. Bgtan—Ri-' = 3.Shyamaldas/

. Phulwari / HASE
Tt § perarh |

Codes /%2 :

~a b ¢ |
(A3 1 2 |
B)2 3 1 !
©1 2 3 g
2 1 3 |
104D 19

128.

- (A) Shankaria

were the leaders of the revolt of
1857 in Kota State of Rajasthan.
(A) Lala Hardayal and Mahavat Khan
(B) Khushal Singh and Ram Singh
(C) Lala Jaidayal and Mehrab Khan
(D) Pt. Naynuram Sharma and Vijay
Singh Pathik

'ymwm%ﬁamﬁmﬂ%f%@gm
qE A

(A) mmmw@
(B) Gueiiig o qufyE

(C) T SIS aYT U @F

(D) Y. T v et fersrafi oftres
Which of the following is not a dance of
Kalbelia’s of Rajasthan ?

(B) Chari

(C) Panihari (D) Indoni

1 4 8 3 T T ToRH % e

BT ?

(A) TR ®B) =0 ,%g
(C) ufrgr (D) et &
Which of the following pairs is incorrect ?

 (A) Vashishtha ji Temple — Sirohi

(B) Laxminarayan Temple — Alwar

(C) Samidheshwar Temple — Chittor

(D) Rama Vaikunthnath Temple — Pushkar
= o @ w e g 7

- (A) afyrg S Al - R

(B) SIEHHTTRY AT — SR

(C) afdvet ifx — Rrete

(D) T dpvaT A — TRt

The correct chronological order of the
attacks of Alauddin on Rajasthanis

1. Jalor Attack

2. Chittor Attack

3. Ranthambhaur Attack

| ST TSR W AT %7 wE

W%



132.

The Prime Minister of Matsya Union was

~ (A) Sawai Mansingh

133.

(B) Bhupal Singh
(C) Tikaram Paliwal -
(D) Shobharam Kumawat

e e 35 A &
(A) T IERE
® weke  Eha
(C) Ererrm el
(D)sﬁumw

Match List-I (Wild-life Sanctuary) with

List-II (Place) and choose the answer

from the given codes :
List—1

a. Desert National Park

b. Talchhapar

c. Phulwari Ki Nal - 3. Jaisalmer

d. Bandh Baretha 4, Churu.

gl (s=-Sfe svmeE) ® G-I

List—1I
1. Udaipur
2. Bharatpur

(zer) & gt AR e 9 A ™
T TR T I HT T BT ;
-1 -1
a U IAE 1. ISR
| b, B 2. @
c. BETaTE! <t A 3. e
d. S ST 4. 9%
Codes / %< ¢
a b c d
A2 3 .1 4
®3 2 4 1
©3 4 1 2
D)4 3 _2 1

134.

[ —
RIS —ps———— R

[
[~

135.

- c. Rbyal Orient Express

Who was the’ first Chairperson of

Rajasthan Public Service Commission ?

(A) S.C. Tripathi

(B) Sir S.K. Ghosh -

(C) D.S. Tiwari

(D) M.M. Verma

TS W T I F mm S

WY

(A) wa.8, Bt
(B) T TE.%F. OY

(©) S fmrd

(D) T, T

Match the following :
Frferfea = g =
Tourist Services

(v Famd)

Starting
Year
(ST )
a. Heritage On Wheels /' — 1. 2004

BT 31T =ed
b. Royal Rajasthan On - 2. 2009
Wheels / ~
e Y™ 3
]

- 3, 1994-95
/ e TR T
d. Village On Wheels/

Tyere arfn e
Codes / 92 :
a b
(A1 4
(B) 3 2
2
1

~ 4. 2006

© 4
D) 2

P W e N)O
W o B W

104D

136.

Peepal Panna is

(A) Women’s ear ornament
(B) Women’s head ornament
(C) Women’s neck ornament
»(D) Women’s waist ornament

et 9= 8

(A) ﬁa‘a‘r%mmaﬂw

(B) Torari & fo 1 ampwor
(C) Rl 3 7Tt &1 Imywor

| (D) Tt 3 % T I

137.

138.

The saint who was invited to Fatehpur
Sikri by Mughal Emperor Akbar was

(A) Lal Das

(B) Jasnath
(C) Rajjbaji (D) Dadu Dayal
T WHIE e g1 o w5 Y Bagq
iRt it fomart mar o, g ot
(A) T gH (B) &=
© TSt (D) 3] g
In 1932 Mev Peasant Movement of

Rajasthan started in whose leadership ?
(A) Pratap Singh

(B) Dr. Mohammad Hadi

(C) Alwar Maharaja Jaisingh

(D) None of these ,
1932 ® ToRUM H Ay ReEm Iridem

s ey 3 ey g 7

104D

(A) gamaftg

(B) . v wdh

(C) rerer wgmTren Sfdg
©) FH IR

139. Match the following from List — 1

140.

2. To

(Heritage) with List — II (Place) and
choose -the correct answer from the
given codes as under :

List—-1 List-1I
a. Jal Mahal 1. Jodhpur
b. Ek Thamba Mahal 2. Bikaner
¢. Junagarh Fort *3. Jaipur

ﬁw%riﬁaq\aﬁ—l(%ma)w@—-ﬂ
() & a1 e w5t ot AR e e

F T I ¢
g -1 Fﬁﬁ II
a. SIeT HES I.EWEI

b. Th YT HEA 2. B

Codes / %

w5 2

B) 3 | S
CHEEEI
™1 3 2

Consider the following statements about
the State Election Commission and

- make the right selection :

1. Preparation of electoral rolls for the

elections of State Panchayats and
. Municipalities.

conduct the election for
Panchayats and Municipalities.

3. The work of preparing and electing
electoral rolls submitted by the
Election Commission of India.

T fratert ariiT o R % fie st w

- T i o widl fole w1 g iR |

1. TST & JorE! ud arafeea &
e & forg et e Qe e |

2. vl va ReRTet % R g
H T |

3. wRelt Rafem s g wega Prates

T T = 3R AR FHH HHH |
(A) 2,3

B ,2,3

(C) None of these / 378 & @ﬁ &l
D) 1,2



141.

142.

Which of the
instrument is played by people of Kamad
caste in Rajasthan ?

(A) Tandura (B) Surinda

(C) Gujari (D) None of these
oy § wwe Wi F e g P E
I o1 wfa AT ST R ?

(A) TgT (B) g1

© = (D) ¥l A1 Tl

‘Consider the following statements about

Governor of any State :
1. Heis appomted by Chief Justlce of
India.

2. They remain in office as per wishes .

of President.

3. Executive powers of State are
“embedded within him.

4. Generally, they remain in office for
five years. -

it U5 % TSI () % wEY A

o e W ferem i -

1. 31 WA % g =rrhy P W
g1

2 3 Tyl Y T0T FTIN GG W TE ¢ |

3. 37 o ) Rt wRe Rk €
4. m:_éq’feaﬁ%%@am@ﬁ I

Choose the correct statements.

gt AT T R IR |
Codes /2

(A) 1,2,3 (B) 1,2,4
© 2,3,4 (D) 1,2

following musical -

143. What is pachevada with reference to
Rajasthan ?

(A) Jut patti

(B) Mud toys

(C) Thick cotton shawl

(D) Hand made paper

Ty % ged o ‘Fﬁa‘f {(pachevada) 91"
27

(A) Sug

B) aﬁﬁﬁ@%fmﬁﬁ
© tﬁftg@‘}sﬁa

(D) &% it wrre

144, The term of Lokayukta in Rajasthan is :
' (A) 5 years or age of 66 years,
whlchever is earlier.

B) 5 years ‘Or age of 60 years,
whichever is earlier.

(C) 5 years or age of 62 years,
whichever is earlier.

(D) 5 years or age of 65 years
‘whichever is earlier.

T H I 1 HRISI Sl 8 :

(A) 538 & 66 = Y I, S TR R
- (B) sa&ms()aéﬁaw\g,;haﬁnzéén
| (©) 5§ 62 9 Y 317y, S e B |
D) 51 65 78 N A, A T |

145. Lalya-Kalya Fair is organized in
(A) Bharatpur (B) Jaipur
(C) Bhilwara (D) Ajmer
AT~ HTeaT et ST Bl B

(A) wEgH (B) SR A

©) emrerd (D) s

2 o N 104D

" 147. Which of the following pair has taken

'146. Which of the following pairs is correct ?
fadashwgmadig ¢
Institution / &I Establish- -
ment/EqT9T
(A) Jaipur Katthak - 1982
Kendra / ST #eyeh ’
(B) Rajasthan Hindi -
“Granth Academy /
TR 5 ooy
JHHTEHT
(C) Rajasthan Lalit Kala
~Academy / USRI
<Aferd e SrehTeH
(D) Rajasthan Sanskrit -
Academy / TSI

TP IreHreHt

1980

1957

1969

oath maximum times as a Chief Mlmster
of Rajathan ?

(A) Haridev Joshi and Bhairon Smgh
Shekhavat

(B) Bhairon Smgh Shekhavat and
Hiralal Devpura

(C) Shiv Charan Mathur and Haridev

Joshi
(D) None of these

148 Who among the following was not a
Chairman of Rajasthan State Human
Rights Commxssmn ?

(A) Justice NK. Jain .

(B) Justice S. Sageer Ahmed
(C) Justice Kanta Bhatnagar
(D) Justice Premchand Jain

e § @ ol TSI T qm-awﬁqm
emﬁrr%@awwmﬁé?

(A) =l %,

(B) = v, i arew

(C) = e WeaTwR

(D) =mfd Jure S

149. In Rajasthan, ‘Satudi Teej’ festival is

celebrated on _

(A) Kartik Krishna Tritiya

(B) Kartik Shukla Panchami
(C) Bhadrapad Shukla Panchmi
(D) Bhadrapad Krishna Tritiya

m% |

(A) fdes o e

(B) fiieh Yyt eft by
(C) wigwe Y& u=rel

(D) WWWHE‘T

> B % v R § g 150, Who appoints the Chief Information

-
§
T 3 Tt AR o 7 !
(A) e i i e e g
® ¥RE e e e |
© ﬁﬁwmg'('qagfﬁasﬁgﬁ ;
(D) ¥ @ i5 7 g

Commissioner of the State ?
(A) Chief Secretary (B) Chief Minister
(C) President (D) Governor

T & o1 W g % Prgfe
wER?

(A) geHfE  (B) gewsh

(C) ugufa (D) T



